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1010 doe 2 B1 Ikkokk7 MR
1010 PRk 2 Bl 1xxxxx7 S
1010 R 2 B1 1 kokkg E50 %0
1010 ¢k 3 B10kkokk3 3R
1010 PR 3 B10**kxxX5 (R 2
1010 PRk 3 B10x*kkkk() HEG
1010 Pk 4 BO&xxkkxh AR
1010 PRk 4 BO9*xkxxx3 ER BE1
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1011 PRk RS 1 B12%kxx*8 RS S
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1020 b2k 1 B12xxxxx] B 7
1020 2k 1 Bl2xkxxx6 Fl% ot
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1020 ek 1 Bl2xkxxx6 T
1020 h2 K 1 B12%kxxx3 KR
1020 2k 1 Bl2*xkxxx6 i3~
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1020 b2 3 B10kokokk 21
1020 b 3 B10kkxks P4
1020 b 3 B10kokokk EA
1020 b2k 3 B10xkkkk7 s
1020 Ny 3 B10%kekkky i
1020 b2k 3 B10%kkxkg 1A &
1020 b 4 BO9*kkxk8 R+ ®
1020 b2k 4 BO9¥kkkx3 U
1020 be 4 BO9kkkkx3 B R
1020 b2k 4 BO9*xkkk() HEE
1020 b2 4 BO9*kkxk8 TR
1020 b 4 BO9*kkxk3 P ks
1030 e 1 B12%kkxk3 ot
1030 i 1 B12%kskkkd oA
1030 B 1 B12%kkxk] Z Foas
1030 B 2 B1 Ixkkkkd 3t
1030 B 2 B1 L¥xskkk7 P iR
1030 B 2 B1 %kkxk] P 50
1030 B 3 B10xkkkk7 e
1030 B 3 B10%kkkk =2
1030 B 3 B10Xkkkx6 @4 2
1030 B 4 BO9*kkxkg 5k %
1030 Bk 4 BOg¥kkkxg T4
1030 B 4 BO9*kkkk] b F %
1040 178 1 B12%kkkX6 % K M
1040 178 1 B12%xkk%2 e
1040 178 1 B12%kkokk 24
1040 178 2 B1 1 %kkkk() ia g
1040 178 K 2 B11%kkk%g P}
1040 178 3 B10Xkkkx9 ol & i
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1040 178 3 B10%kkxk8 mE
1040 178 4 BO9*kkxk] SEAR AT
1040 178 4 BO8xkkkk4 e
1040 178 K 4 BO9*kxkkg FRAB R
1050 AHKE 1 B12%kkxkg BB s
1050 A HE s 1 B12%kkxk9 B A
1050 A BE Lk 1 B1 2%tk R
1050 A HE s 2 B 1%kkxkg 2R
1050 A HE 2 B11kxkk3 § oo
1050 A HE s 2 B 1%kkxk8 P o
1050 AHKE 3 B10%kkxkg E
1050 XHE 3 B10kkxk g i A%
1050 AHKE 4 BO*kkxkh ARG
1050 A HE s 4 BO9*kkxk] FE PR
1060 B3 1 B12%kkxkg i =
1060 BT 4 1 B12%kkkx() B ER
1060 B3 4 1 B12%kkkk() %R
1060 BT 4 2 B 1%kkxk8 R
1060 B3 2 B1 ko7 F5 AT
1060 B 7 2 B1 1kkkekh * &
1060 B3 3 B10%kkokkq N2y
1060 BT 4 3 B10%kkkk() 5 4k
1060 B3 4 3 B10kokokks Ay
1060 B 7k 4 BO9*kkxkg e
1060 B3 4 BO9*kxkk5 R
1070 Pk 1 B12%kkxkQ Sk
1070 P 1 B12%kkxk] #1278
1070 Pk 1 B12%kkxk5 A
1070 P 2 B1 1%kkkk3 P
1070 Pk 2 B1 1%kkxk5 35233
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1070 P 2 B1 L¥xskkok7 I R
1070 Pk 3 B10%xkkk7 AT
1070 P 3 B1 0¥k ¥ 37F
1070 Pk 3 B10%kkxk3 H
1070 Pk 4 BO9kkkkk2 Fi e e
1070 P 4 BO9*kkxks %
1070 P2k 4 BO9¥kkkxT O
1090 B 1 B12%kkxkG gy
1090 B 1 B12%kkkk() 1 48 1
1090 B 2 B 1%kkxkg HhprIR
1090 B 2 B1 Ikekokkd RS
1090 BN 3 B10%kkkk4 ¥
1090 B 3 B10Xxkkkxg B 5T
1090 B 4 BO9kkkkxg ® 7O
1090 B 4 BO9*kskxkg it
2010 s 1 B12%xk%%() W Ae
2010 B 1 B12%kkkx3 RER
2010 s 1 B12%kkxkg S
2010 B 2 B1 1%kkkkg F¥ ERAY
2010 s 2 B 1%kkxk8 IR
2010 s 2 B1 Lk # ik
2010 s 3 B10Xkkkx8 xS
2010 #g i 3 B10**H%x3 M2 A7
2010 s 3 B10%xkkokq o
2010 s 4 BO9kkkkx5 244
2010 s 4 BO9*kkxkg SEET
2020 ook 1 B1 2%%HXXT ZEk
2020 Pk 1 B12%kk%x3 PR 3
2020 By 1 B12%kkkx5 VA &
2020 Pk 1 Bl 2¥xkkx] Ep R
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2020 Pk 2 B1 1#%kx] L 1
2020 $o 32k 2 B11*kkkk3 FEAT
2020 P2k 2 B1 1xk%tckh FRIE
2020 L 2 B1 1%k HE &
2020 Pk 3 B10*k%x%8 HR A2
2020 L 3 B10xkkxk2 R4 T
2020 P2k 3 B10*k%x%9 M %
2020 L 4 BO9xkkxk() e
2020 1% 4 BO9kkskkkg MA
2020 L 4 BO9xkkxk2 LGS
2020 Pk 4 BO9xkkxkp T
2030 R 1 B12%%%xk8 T &E
2030 R 1 B12%%%xk2 LR ENES
2030 [ 1 B12x%%x%() AT ¥
2030 L& % 1 B123%%%xX] Mo
2030 [ 2 B1 Ix%kxk4 T RIE
2030 LB % 2 B11kkkkkp ow 3
2030 LBk 2 B1 1%%kkkh Heim
2030 R 2 B1 1] TR
2030 [ 3 B10xkkxkp Bz %
2030 LB % 3 B10kskkkk] Mdp
2030 R 3 B10xk%xk3 MpF
2030 L& % 3 B10X*x4%3 A
2030 R 4 BO9xkkxk2 * AL
2030 L& % 4 BO9*kxckkh T %
2030 [ 4 BO9xkkxk2 %% 4=
2040 Ok 1 B12%%%xk3 T Re ¥k
2040 B Rk 1 B12xkkxx] 1 24
2040 B 2 B1 1 #kokk3 P
2040 B Rk 2 B1 Ixk%xk2 3%




112-28 L Fra iR a gt o 8

2040 Ok 3 B10*k%x%8 el A
2040 Rk 3 B1 0T MU R
2040 Rk 4 BO9xHXkK] 7 F A
2040 Rk 4 BO9xkkxk4 i A
2040 Ok 4 BO9xk*xk8 14
2070 IR 5 1 B12%kkkkq TS
2070 I 1 1 B12%%%xkG Bk
2070 T L 1 B1 23] w M
2070 LI 2 B1 1xk%xk2 B g
2070 L 2 B1 Dkkskkek() % 5k
2070 I 1 2 B1 1#%kx] iR iR
2070 T L 2 B1 1%k%x%9 i 5
2070 N 3 BOQ*krkkT 5k F
2070 T L 3 B10xk%xk3 A PE
2070 AR L I 3 B10xkXxk4 h 1
2070 AT L 3 B10xkkxx] F RE
2070 S 1 4 BO9skskkskk] R
2070 AT L 4 BO9xkkxkp R
2070 NN 1: 4 BO9kxkkkk] MIE =
2070 o TR % 4 BO9QXxkskskk 7 ERN
2080 o3k 1 Bl 2*¥tkx] T A
2080 B3k 1 B12%%%x%3 S 37
2080 o3k 2 B 1xk%xkG RSN
2080 B 2 B1 1k%xk8 e
2080 P32 % 3 BO9kkkkk() R
2080 gL 3 B10xk%xk8 L
2080 o3k 4 BOTxxckXT HRE
2080 B3k 4 BO9xHkkx] T R4
2090 X F 1 B1 23%%XT R
2090 < F k 1 B12%%%x%3 i
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2090 X5k 2 B1 1¥kkkx6 EF3

2090 L F 2 Bl I¥xkokk8 3
2090 L F 3 B10%kkxk8 R
2090 L F 3 B10Xkkkx9 ST

2090 <k 4 BO9**xkxT WA G
2090 L F 4 BO8*¥kokk3 5

3021 Foip k Fih m 1 B12%kkkx3 if &35
3021 Fin kT 1 B12%xkk%7 =

3021 FCip h FCHh e 1 B12x%k%%2 E Rl
3021 FOip kP e 2 B11%kkxx] H % K
3021 Foipn k Fdh m 2 B1 Ik ¥ 4p %
3021 Fin kT 2 B1 IxkokkkT g
3021 Fp ki e 3 B10*%k%k%9 jo 4
3021 FCip % o e 3 B10*kkkk9 R E
3021 FUp % 5 e 3 B10**kkk4 Mg B
3021 FOin et e 4 BO9kkkxk8 + 1k

3021 FTis kP e 4 BO8*¥kxx() g B2
3021 Fin kT 4 BO9kkkkx6 Fri
3022 Fois kM e 1 B12%kkkX6 HiE &
3022 Foin kFM e 1 B12%xk%x5 Bl ¥
3022 Fois kM e 1 B12%kkk%2 LREES
3022 Fois kFM e 2 B1 1¥xkkokg LS

3022 Fois s BB e 2 B10Xkkxk6 E 220
3022 Fois K FM e 2 Bl I¥skokk3 FEARL i
3022 Fois kM e 2 B1 I¥xkkokq ¥ 43
3022 Fois k FM e 3 B10%xkkokq L

3022 FUp % R e 3 B0tk HH

3022 Fois K FM e 3 B10Xkkkx9 .}
3022 Fois kM e 4 BO8*xkkokq IS

3022 FOo )k B e 4 BO9xkkkks * A
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3022 Foie k BB e BO9Xktkkg T Ak
3022 FOis s BB e BO9*kkxk9 BT R
3023 Foio kN iF e B12%kskkx7 B3z
3023 Flip & o7k B12%x%x%9 Wy &
3023 Fois kN iF e B12%%k%k] B2
3023 Foo A7 e B1 1kskkkk7 2E ;;g]
3023 Fop s 7 le Bl 1xk%xk() o34 Fe-
3023 | gein kol B1 1k G A
3023 Foio k7 e B10kkskkk() % B
3023 Fp g file B10*kkk%3 Bz
3023 Foip h N 7 B1 0%k E =3
3023 Foo A7 e BO9xkkkkkg BB
3023 Fois kN iF e BO9kkkkk3 3 ARE
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3030 KPR 3 B10kkkkk2 Mg
3030 Kb 3 B10%kkkokg EA
3030 T 3 B10*x%x%3 e 4 I
3030 KlE S 3 B10*kkkk6 ELEAR
3030 T 3 B10kskkkk] BRI H
3030 KlbE S 4 BO8*k*xk() FRiF Bt
3030 B 4 BO9*xtokkq P & T
3030 A 4 BO9*xxxkh ;B
3030 b 4 BO9kkkxkp T¥ B A¥
3030 JE A 4 BO9*xkxk() &3
3030 A 4 BO 9ok ¥ =4
3030 KlbE S 4 BIREES S #F v
3050 A€ 1 B12%x%x%2 Rz T
3050 A€k 1 B12%x%x%4 Mg &
3050 Ak 1 B12%kkx8 R
3050 ALk 2 B11Xkkkkh Wl ik
3050 AL gk 2 B11%%k%%3 ey
3050 AL gk 2 B10XHkk%2 Ut o
3050 AL gk 3 B10Xkkk*5 3 5B
3050 Ak 3 B10X*kk%8 IR 43
3050 A€ 3 B1 0%k o A&
3050 ALk 4 BO8Xkkkk] £ §
3050 At gk 4 BO9xkkxk] BEH
3050 i g 4 BO9#kskkk( T
3100 Ak 1 B12%xkkx] HE
3100 ARk 1 B12%kkxkT 5 7
3100 ATk 1 B12%%%%k() g {1+
3100 ATk 2 B11%%kXxp ME S
3100 AR 2 B11xkkkkT I
3100 P 2 BI 1Xx%x%2 ¥+
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3100 i) 3 B10%kkxkg ORI
3100 ira ) 3 B10¥xkk%( Ry
3100 A 3 B1 0¥k 3 g
3100 A 4 BO9*kkxkg > b
3100 i) 4 BO9kkkkx5 B
3100 A 4 BO9*xkkk() £EF
4010 T 1 B12%xkkk%2 5
4010 S 1 Bl 2¥xk%x5 By
4010 ¥ 1 B12%xk%%( ¥ Bk
4010 F5, 1 B12%xkekx5 12%
4010 FE 1 B12%¥kxk8 % 4p =%
4010 F5, 1 B12%xkk%7 4 4
4010 ¥ 1 B12%kkxk8 o
4010 S 1 B12%kkxk8 IR
4010 i 1 B12%xkkkq %%
4010 F5, 1 B12%xkokk2 T
4010 ¥4 2 | BID®ken3 £23
4010 ¥8 2 | BIDkkRKKS * 5%
4010 FH 2 B1 1 ¥skkk5 1
4010 S 2 B1 1¥xskkokg e
4010 ¥ 2 B L¥xkskkk] Mt %
4010 F5, 2 B 1¥kkkx9 b 4=
4010 ¥ 2 B11%kkxk] S R
4010 5, 2 B1 IxkkkkT 3 7 5
4010 ¥ 3 B10*xkkk( QLS &
4010 S 3 B10Xkkkx9 A B
4010 ¥ 3 | BLO%vRRKT e
4010 F5, 3 B10%kkkx3 TRTTEa
4010 gﬁ gk 3 B10kkkekekq s 2
4010 5, 3 B10Xkkkx8 Bk
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4010 FE 3 B10*xkkxkh v KT
4010 FE i 4 BO9xkkxkg & & K
4010 FE 4 BO9xkkxkp i3
4010 FE i 4 BO9xkkxk8 =4 4a
4010 %5 L 4 BO9Xkkkk ] RE
4010 FE i 4 BO9xkkxkh U tp
4010 FE 4 BO9xkXxkp RE
4010 k¥ 4 BO9kkxky Vil
4010 FE 4 BO9*xkkxkh B X
4010 FE i 4 BO 9T LR S
4010 FE 5 BO&xkkxk2 Mt i
4010 FE i 5 BO&*kkxk3 PR
4010 FE 5 BO8*kkx%3 ¥f 1p
4010 FE i 5 BO&xkkxk2 A E
4010 FE 5 BO8*HXxk4 Bk
4010 FE i 5 BO&xk*xk9 WL et
4010 FE 5 BO8*xxokk4 Mg
4010 FE i 5 BO&*Hkxx] R &
4010 FE 6 BOT*xx0k%k4 IR
4010 FE i 6 BOTxk%Kk3 T 4L
4010 FE 6 BO7**x4%9 B s
4010 FE i 6 BO7xk%kKk8 PR B R
4010 FE 6 BO7**x4%3 s
4010 FE i 6 BOTxk%Kk3 IvET
4010 FE 6 BO7X*x4%9 PR %5
4020 7 F 1 B123k%XT M= s
4020 7 ¥ 1 B12xkXxkG %%
4020 7 ¥k 2 B1 1xk%x%9 RFE
4020 7 ¥ 2 B1 1x%%xk4 TR 42
4020 7 F 2 B1 Dkkskkekq S
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4020 7 ¥ 3 B10*k%x%3 29
4020 7 ¥k 3 B10xk%xk8 M s g
4020 7 ¥ 4 BO 9kt A
4020 7 ¥k 4 BO9xkkxk3 SEIR: 2
4020 7 ¥ 5 BO&*kkxkh B
4020 7 ¥k 5 BO&*kkxk3 4
4020 7 F 5 BO8kkkkkh FI LS
4020 7 ¥k 6 BOTxkkKk3 RS
4020 7 %ﬁ 4 6 B0 7kkskkk7 3R
4030 z8 & 1 B12%kkkk] B
4030 z8 4 1 B12*%x%x9 33 =
4030 =8 & 1 B12xk%xk6 BRIk
4030 z8 4 2 BI 1%%x%x5 T AR
4030 =8 & 2 B1 1k%xk2 e o
4030 z8 & 2 Bl 1x%%x%() L
4030 Z8 % 3 B10xkkxk8 ERc
4030 z8 & 3 B10XxxckX7 £ 70 A
4030 z8 % 3 B10xk%xk8 i 4 AT
4030 z8 & 4 BO9kkkekk3 HEE
4030 Z8 % 4 BO9*xkkk() % K
4030 z8 & 4 BO9*xk*xk3 P
4030 z8 & 5 BO&xkkxk2 I Z
4030 z8 & 5 BO8*kxk%8 &% B
4030 z8 % 5 BO8xkkxk4 445
4030 z8 & 5 BO8*xxkk() =3I M
4030 R 5 BO8xkkkkhn TS
4030 z8 & 6 BO7xFXKKT B
4030 Z8 % 6 B 7%k 5E T
4030 z8 & 6 BO7Xkx4%2 LR
4040 ¥ 1 B12x%%xx] T3
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4040 F 3t 1 B12%%kxkQ AT
4040 F 3 2 B11%kxkx8 Ht i
4040 P4k 2 BI 1Hxkokokg L~
4040 F 3 3 B10%kxkx9 e I
4040 F 3t 3 B10kkkxk5 % 44
4040 F 3 4 BO9kkxkx5 % R
4040 F 3t 4 BO9*kkxk e W
4060 L 1 B12%kxkx9 M
4060 Hw 1 B12%kxkkT HATIT
4060 L 1 B12%kxk%3 jERE
4060 Hw 2 B1 1kkxkk( 4 47
4060 L 2 B11kxkx3 % % 47
4060 Hw 3 B10%kkxkg % i
4060 L 3 B10%kxkx5 iF= %
4060 Hw 4 BO9*kkkk4 L R
4060 L 4 BO9*kxkx5 P ) 2E
4080 Poin 1 B12%kxkk4 IR 7
4080 EPE: 1 B12%kxkx] 5 kg
4080 Fie 2 B11xkkkk] ¥ R
4080 EPE: 2 B113kxkx] ERBS
4080 Poin 2 B1 1kxkk5 1 p3
4080 EPE 3 B10%kkxkg I
4080 Fiok 3 B10xkXxk2 W E%
4080 EPE: 4 BO9kkxkk] %%
4080 Poin 4 BO9*kkxk] PR
4081 Poin k(= &) 5 BOGKkxkXT = Per
4081 oo k(= &) 5 BO&*HXkx] ERIE
4081 Poin k(= &) 6 BOTXkkkX5 T g &
4081 oo k(= &) 6 BO7Hk¥Kk) FHCIRES
4090 Bhis 1 B12%kxkx] flz 2
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4090 Bhis 1 B12%xkkx6 FR3TAR
4090 Btk 2 B I¥kkkx] U
4090 Bhis 2 B1 I¥xskkokq SRRE
4090 Btk 3 B10Xkkkx9 f % 45
4090 Bhis 3 B10%kkxk] A
4090 Btk 4 BO9kxkkokg FA
4090 Bhis 4 BO9xkkkk() S
4120 e 1 B12%kk%%2 Fh e 1
4120 ts e 2 B ¥k ek
4120 e 2 B 1¥kkkx3 E
5010 ER 1 B12%xkkx6 TRz
5010 S S 1 B12%xkk%7 e =
5010 ER 1 B12%xkkx5 ph gt
5010 S S 1 B12%xkkkq % P
5010 ER 1 B12%xkkkq I 2
5010 N 1 B12%kkxkG B E %
5010 ER 2 B1 Xk 6 FEI3 e
5010 4R 2 B1 1¥kkkx9 BR g e
5010 ER 2 B L¥kkkx3 g
5010 N S 2 B I¥kkkx] » K
5010 oA 2 B1 I kkkokg ek
5010 N 2 B1 1¥xkkokg AR
5010 A 2 B ¥k WASAWAT SINTHUMONGKOL
5010 4R 3 B10%xkkk7 ok
5010 4 Ak 3 B10*xxkk4 ® 0=
5010 N S 3 B10¥kkkx] R &
5010 ER 3 B10%kkxk2 3 %8
5010 N 3 B10¥xkk%( IR
5010 ERN 3 B10kkk3 LER
5010 L 4 BO9kkkkx6 PR E
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5010 Ak 4 BO9kkkekk3 et
5010 Ak 4 BO9xkkxk4 TR
5010 Ak 4 BO9kkkekk2 5 4 43
5010 R 4 BO9xkxkkk5 ¥ B
5020 W 1 B12%%x%x§ 3 R
5020 A 1 B12%kkkk() ij -+ 2w
5020 Wk 1 B12%%xXX6 PR S
5020 Bk 1 B1 23T Z21%
5020 Wk 1 BI 24T *ph i
5020 Bk 1 B12%k%k%3 LA
5020 Wk 1 B12%%%xk2 )
5020 R 1 B12kxkxkx() 4% AL
5020 Wk 2 BI 1k*xkXT ES
5020 Bk 2 B1 1%kkk%2 5 fn 3
5020 Wk 2 B1 1xkkXT 3 fatE
5020 Rk 2 B1 1%tk oV
5020 Wk 2 B 1xk%xkG e AL
5020 Wk 2 B1 1%y 33 &
5020 Wk 2 B1 1x%%xk4 Hrip o
5020 R % 2 B11%kkkkkq B
5020 R % 3 B10Xkkxkg 3 G F
5020 Rk 3 B1 0T * ITIT
5020 Wk 3 B10X*x4%3 M P 45
5020 Rk 3 B10xkkxk4 e
5020 T 3 B10Xkkk%2 At %
5020 Rk 3 B1 0T MR T
5020 Wk 3 B10X*x4%9 FR¥E
5020 Rk 3 B10xkkxx] R 2
5020 T 4 BO9kskkkkg BiEB
5020 Rk 4 BO 9kt e
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5020 P 4 BOQkrkkkT iRF
5020 Bk 4 BO9xkkxXT FRR 4T
5020 R % 4 BO9kkkxk3 2] 58 R
5020 Bk 4 BO9xkkxk() AL
5040 L1k 1 B12%%t%x5 I ER
5040 L1k 1 B123%k%xk() SR 7
5040 L 1 B1 1xk%xk2 RF i
5040 L 1 B1 23T 24
5040 L) 1 B12%%%xk9 L
5040 [ 1 B1 23T 1 forf
5040 L 2 B1 1*¥tkk4 3 4p AL
5040 L 2 B1 1k%xkh U
5040 I R 2 B11kk%kkh sk
5040 it % 2 B11%kkkkq Hd &
5040 L 2 B 1xk%xkG AL
5040 vk 2 B1 1k LR
5040 L 3 B10xk%xk9 P st 4T
5040 L 3 B10xkkxk4 LRI
5040 L 3 B10XxkX5 R85
5040 vk 3 B10kkkkk8 7 -
5040 L1k 3 B10%xkkkks =
5040 v % 3 B1 0T S
5040 L 4 BO8*xxkXh =Y
5040 L1 % 4 BO9Xkkkkq E O
5040 L1 4 BO9kkkkk] ZE sy o
5040 L 4 BO9xkkxk3 S E
5040 L 4 BO9*xxckkq )
5050 R SRR S 1 B12%kkkk@ i
5050 1A 1 B12%%%xk3 P Y
5050 1 fLiaE 1 B123k%xXT % R
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5050 3L 2 B11%kkkkh i &
5050 T E 2 B1 [ kiokk3 AT
5050 Ak 2 B11wkrkkT RS
5050 1l 2 B11#kkkk8 Flx B
5050 LR E 3 B1Qwkkk7 AR

5050 1A 3 BO9kkkkkg F P
5050 1A 3 B10kkkk2 % =7 3
5050 a1 LR 4 BO9kkkk6 * kA
5050 B SRERE A 4 BOgkkkk3 M2

5070 Ho 1 B12%kkhk3 B E A
5070 HAL 1 B12%kxkkT e ¥
5070 oL 1 B12%kkkk6 7
5070 HAL 2 B1 1kkokk2 B g
5070 oL 2 B1 1 %kokk5 TS 3
5070 HAL 2 B11kbkxx() B 259 4%
5070 HoL 3 B10kkk3 BAE
5070 HAL 3 B10kkdok2 A B
5070 L 3 B10XHkkk3 4

5070 HAL 4 BO9kkhkg B 0

5070 oL 4 BO9*kkkk3 R ]
5070 HAL 4 BO9bkkkg L

5080 Fk 1 B12%kkkkg g4t
5080 Faik 1 B12%kkkks #1652

5080 Fk 2 B1 [kkokks HHE B
5080 Faik 2 B1 1kkokk3 i

5080 Fak 3 B10kekkkq U
5080 Faik 4 BOgokkokk2 o
5090 ELfE R 1 B12%xk%%() ) R
6010 B 1 B12%kkkkg LETES
6010 B 1 B12%kkkk8 ¥ EiE
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6010 B A X 2 BI 1x%x%2 R A
6010 B 2 B11xkkkk] e i &=
6010 B 3 B10*kkkk3 By
6010 B 3 B10*kkkk3 54 F
6010 B 4 BO9kkkkk6 EH NN
6010 B 4 BOGHkkRKD ST
6020 41 1 B12%x%xX7 R

6020 41k 1 B12%x%x%Q it
6020 41 1 B12%x%x%() 1 rcs
6020 41 % 2 B11Xx%x%h5 R g IY
6020 41k 2 BI 1Xx%x%6 T ipE
6020 41k 2 B11%%k%%3 3P A
6020 41k 3 B10*kkkx8 5k ¥ 3

6020 41k 3 B10%kkkk] SRt
6020 41k 3 B10%kkkx] e G
6020 41 % 4 BO9*xxxk3 k3L FE
6020 41k 4 BO9*xkxk() W~ A
6020 41k 4 B08*kkkk4 el 2
6030 Bk 1 B12%kkxx9 B
6030 Bk 1 B12Xx%x%6 F3#®
6030 Bk 1 B12%xxkk4 FROE 4
6030 Bt 2 B1 Ik | R
6030 Bk 2 B11%kkkk3 3R = 3
6030 B 2 B11¥xkskT Ry
6030 Bk 3 B10*kkkx6 Z R4
6030 Bk 3 B1 0T Bik
6030 B 3 B10X*k**9 ¥ RGE
6030 Bk 4 BO9*xkxkq L N
6030 Bk 4 BO9kkkkk2 M i 4.
6050 HHET 1 Bl 2*¥x%x4 PR ¥R
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6050 HHIET X 1 B12Xxk%k9 BT
6050 HHRERT 1 B1 2%k ( g 2
6050 HHET 4 1 B12skkakT Hie ¥
6050 HHET X 2 B11%kkkx8 B
6050 HHET 2 B1 [k*%k%8 PR
6050 HHRET 2 B1 1 %kkx( ERRAY =
6050 HHET 2 B1 [k MoE 2
6050 HHET X 3 B10kkikG LRy R
6050 BB T 3 B10*kxkk6 5k R &
6050 HHRERT 3 B1 0%k REE
6050 FARRT 4 BO 9ok F4F
6050 HHET 4 BO9xKKK2 ¥ -
6050 Bk T 4 BO9kekkkT ¥ g
6060 [l aF s 1 B12%xx%%6 kR Ae 5
6060 #5 e AL 1 B12%kiokq Y
6060 o L 2 BI 1¥xxkk] v &%
6060 B 40 FL 2 B11kkkkk6 EL
6060 e FLHE 3 B10%kkkkg Pl
6060 [aBLl SF 3 B1 0tk () R
6060 B e A 4 BO9kkkkKS i
6060 B L 4 BOGkkskkkp P 723
6070 L & 1 B12%%**x§ TR
6070 Bk 1 B12%%**x§ i AT
6070 B 1 B12%kkkk3 ER
6070 B 2 B11kkkk3 &2
6070 B 2 B11%ksokxd 3 h g
6070 Big 2 B11k¥kkexh IR
6070 B 3 B10sokok5 Eap
6070 ) 3 BO8*kkkk 3§ iEE
6070 B 4 BO9kkickq i
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6070 B 4 | BO9kHKEKX( x
6080 4 1 | BI2keka3 3
6080 B4 4 1 | Bl2wkekks 2 3t
6080 4 1| Bl2wkxkx 7% 3
6080 B4 2 | Bllwkkx] ¥ =i
6080 4 2 | BII¥KHKKG st
6080 B4 4 2 | BlI%kekag S
6080 4 3 | BIO¥KHKKG bR
6080 4 3 B10%kkkk] 1Y
6080 4 3 | BIOKKRKKT 5
6080 B4 4 4 | BO9wRxREQ L
6080 4 4 | BOGRKRXKS Sy
6090 BT 1| Blowkow 7 o
6090 BT 1 | BI2kwkak EE
6090 B 1| Bl2wkeke 147
6090 BF 2 | BII¥kHKRS 1 4 47
6090 BT 2 | Bllwkeek] F 3R
6090 BF 2 | BIIwkRRT ¥ %
6090 BT 2 | BllkbkR B
6090 BT 3 | BIO¥kKKKG il
6090 B 3 | BlO®RKKKG B
6090 BF 3 | BIO¥kHKKQ (]
6090 BT 3 | BIOWkRRK i
6090 BF 4 | BOgRRRXKS Ok %
6090 BF 4 BOgkxkkS LR
6090 BF 4 | BO9KERKKAT M R
6090 B 4 | BOGRRRRK3 % ey
6090 BF 5 | BOS¥KHKKG L
6090 BT 5 | BOgkHKKR E#
6090 BF 5 | BOS¥KHKAS 36 fie
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6090 BRI K 5 BO8*¥kkkkg R A
6100 EARL 1 B12%x%x%2 M E 2
6100 EN 1 B12:trrk2 L=
6100 40k 1 B12%Xkxkg + BIF
6100 EARL 2 BI 1*%x%x%3 ¥ T

6100 41 2 B1 1¥xkkk7 S
6100 EARL 2 Bl 1¥x%%4 1 ¥R 5%
6100 EAR: B 3 B10**x%x9 5 ¥ e
6100 40 3 B1 0¥k B g 33
6100 EAR: 3 B1O**xXxT TR
6100 4k 4 B0tk % A
6100 48k 4 BO9*xxxkg TR
6100 4 4 BOGkkkkkT P55
6110 F Tk 1 B12Xx%x%6 RiE g

6110 EECE S 1 B12%%xx%8 RERG
6110 2Tk 1 B12%x%x%] a4
6110 45Tk 2 B11¥kkkx() £l Rt

6110 2Tk 2 BI 1#%xk%2 MR

6110 4Tk 2 B11kk%kkn %2 4
6110 2 FT 3 B10skkkkk] 3 h4
6110 Tk 3 B10x*%x%() LS
6110 2Tk 3 B10XxXx%g R
6110 Tk 4 BO9xkXkkT ® e R
6110 A5 T 4 BO9kxkkokg R I L
6120 BBk 1 B12%k%k%() g

6120 Po Bk 1 B12%x%x%9 EREEA=
6120 N 2 B1 ¥k o5 5
6120 BBk 2 B11%kk%k] ZE ;_r;g]
6120 BBk 3 B0tk 3

6120 Po Bk 3 B1 QXK () I
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6120 B 4 BO9Hkkk() 7 & &
6120 o 4 BO9*kkxg 132 4
6130 FE i 1 B12%kokk] + A
6130 i g 1 B12%kokx5 ¥4 A7
6130 FE i 2 B1 1kkkkd hRE e
6130 ik 2 B1 Dbk ] R %
6130 {8 3 B1 0k hiE
6130 {8 3 B10%kokk( R
6130 T8 4 BO9kokk2 i
6130 18 % 4 BO9*kkkg EEE
6150 | 2 H¥4Ew 1 B12%kokxQ e
7011 | 1 ¥ ke 1 B12%kokokk] Bk R
7011 | 1§ kg 1 B12%#kkx6 E 7
7011 | 1 ¥ ke 1 B12%*kkxg EECS
7011 | 1 ko 2 B1 [#okk3 A6
7011 | 1 ¥ kpde 2 B1 IkkkkT AR
7011 | 1 ¥ ko 2 B1 1kkkkT ¥l e
7011 | 1 ¥ kg 2 B1 [kokokx5 P &
7011 | 1 ¥ ko 3 B10kkkk2 T &k
7011 | 1 ¥ kg 3 B10kkk( AT
7011 1E AEE R 3 B10kokkT e ®
7011 | 1 ¥ kpd e 4 BO8*kkk] ERE
7011 | 1# xpdEe | 4 BOGkkkkk] M %
7011 | 1 ¥ ke 4 BO9Kkkx5 T4 E
7011 R A 4 BO9kokkg Fou &
7012 | 1 F iftE e 1 B12%*kkk( R A G
7012 1E A pE e 1 B12%kokk2 E
7012 | 1 F iftE e 2 B1 [kiokok3 ¥ FcAe
7012 1E Gk ALE e 2 B1 1kkk( TP
7012 | 1 E iftE e 3 B10kkx5 > %

22




112-28 L Fra iR a gt o 8

7012 1E AR E 3 B10kkkkk3 Eras
7012 1E A EE 4 B0 9Hkeketkg -
7012 1 A e 4 BOgHkoxkokg ¥ IR F
7012 | 1 ifE e 4 BO9*kkotk3 1 7x
7020 g3k 1 B12%*kxx7 L5
7020 ok 1 B12%kkX%6 A e e
7020 g3 1 B12%kxkkg 3 2% 5
7020 3k 1 B12%%kk%2 7R
7020 g3k 1 B12%*kkx3 hiaF
7020 3tk 1 B12%¥kkxg M tp T
7020 €3 2 B1 1%x%%2 i Ik
7020 3tk 2 B11k¥kkx3 R E
7020 g3 2 B1 1kkxkk8 R
7020 3tk 2 B1 1X¥kexck() =% 5k
7020 g3 2 B11Hkkk%2 Biv iz
7020 g3 2 B11k¥kkx3 5%
7020 g3k 2 B11xkkkkG 2k
7020 g3 3 B10*¥kkekh F e %
7020 g3 3 B10%*kkx2 F =
7020 g3 3 B10*¥kkx2 P
7020 g3k 3 B10**kkx6 M~ 45
7020 g3 3 B10*¥kkk] A
7020 g2 3 B10%kkkx8 HoA 3
7020 g3 3 B10*¥ekexk7 MR 4=
7020 g3 4 BO9 kT Pl H
7020 g3k 4 BO9*Hkekk3 HiFc

7020 g3 4 BO9*¥kkk] Fb R
7020 g3 4 BO9XHk**3 A
7020 g3 4 BO9Xkxkk6 i 2
7020 g3 4 BO9**kkx8 SRS
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7020 €3 4 BO9xkkxk] FRFE 4
7030 P&k 1 B12xk%xk2 =+ A
7030 P&k 1 B1 23k%XT R &
7030 P&k 1 B12x%%x%() HA T
7030 P& i 1 B12%%%xk2 %5 Ig B
7030 P&k 1 B12%k%x%9 R
7030 P14k 1 B12%%x%x§ o S
7030 P&k 2 B1 IxkkXT EN -
7030 P14 % 2 B1 1%%kx] %~ 4
7030 P&k 2 B1 1xk%xkp HF
7030 P&k 2 Bl 1x%%x%() Mp R
7030 M4 2 B1 1xkkxk2 EikRE
7030 B4 4 2 B1 1 %kkkk3 #R U
7030 P&k 3 B1 k%2 ® 7%
7030 P&k 3 B10Xxxk%() T
7030 P&k 3 B10xkkxk8 % 7 70
7030 P&k 3 B10xkXkkT A E
7030 P&k 3 B1 k%2 Riv®
7030 B & 3 B10xkXxk4 M AR %
7030 P&k 4 BO9xkkxk8 R
7030 P&k 4 BO9xkXkky L=
7030 P&k 4 BO9xkkxk9 * U I
7030 P&k 4 BO9*xxkk() EEE
7030 P&k 4 BO9xkkxk3 P p &%
7040 R & 4 1 B12xk%xk2 24 M
7040 B 1| B1owr Ty
7040 EA 1 B12%xkkk9 L
7040 B & 3 1 B1 2%k N
7040 R & 4 1 B12%xxkX7 AR
7040 E3 I 2 B11%kkkk2 E 4%
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7040 B & 2 | Bllkwkes
7040 & 2 | Bllkkkery
7040 B & 2 | Bllkwkkxs
7040 & 2 | Bllkkbkky
7040 B & 3 | BIOKKkKG
7040 & 3 | BlO®kxE3
7040 B & 3 | Bl0%wkkx
7040 & 3 | BIO®kKKKG
7040 B & 3 | Bl0%wkk
7040 B & 4 | BOS¥KRKK(
7040 B & 4 | BO9wRRkKA
7040 & 4 | BO9wRERK3
7040 B & 4 | BO9wRERXKG
7040 & 4 | BO9wREKKS
7040 B & 4 | BO9wREKKY
7050 T 1 | BI2wkrkkg
7050 T4 1| Bl%kkxk3
7050 T 1| Bl2wkkkkT
7050 T4 1| Bl2%kkxkg
7050 T 2 | BlO®kxE3
7050 T4 2 | Bllkwky
7050 T 2 | Bllvkknkg
7050 T4 3 | BIO%KkKG
7050 T 3 | BlO®kkKK]
7050 T4 3 | BIOKKKKS
7050 T 4 | BOS¥kkkK
7050 T4 4 | BO9wRRKKS
7050 T 4 | BO9wRRkK
8010 > 1 | Bl%kkxkg
8010 2 1 | BI2wkrrkg
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8010 A 2 B1 1%kkxk] FolllF
8010 N 3 B10%kkkk] v B 7
8010 A 3 B10Xkkk%2 $£1 2
8010 N 4 BO9*kkxkg L&
8010 A 4 BO9kkkkk2 Pl
9010 Tk 1 B12%xkkk7 hFm
9010 T 1 Bl 2¥xk%x5 B
9010 Tk 1 B12%xkkx6 S
9010 Tk 1 B12%kkkx5 & 5
9010 T8k 1 B12%skkox) Bw
9010 T 1 B12%xk%%2 Bk 47
9010 Tk 1 B12%xk%%( i
9010 T 1 B12¥k%k%%3 @RS
9010 Tk 1 B1 2%k 7 M2t
9010 T 2 B 1%kkxk3 th R
9010 Tk 2 B1 1¥xkkk( L
9010 T 2 BI 1¥kkkx3 A
9010 T 2 B1 1%kxk2 HebF &
9010 Tk 2 B1 Ikt () B FE
9010 Tk 2 B 1xkkkk() i 3
9010 T 2 B I¥kkkx] P 4
9010 Tk 2 B1 1¥xkkk( b oA
9010 T 2 B1 1¥xkk%() N
9010 Tk 2 B1 I¥xkkokq Y=l
9010 T 2 B1 1¥kkk%9 FROE 2
9010 Tk 3 B10Xkkkke HE g
9010 T 3 B10kkkk() FRK
9010 Tk 3 B10xk%xk8 2ACE
9010 Tk 3 B10%kkxk] R

26




112-28 L Fra iR a gt o 8

9010 Tk 3 B10Xktokk] 20
9010 TSk 3 B10Xxtokkq % X5
9010 Tk 3 B10Xktokk] L
9010 T 3 B10Xkkkxg M %
9010 Tk 3 B10Xxtokkq sk AR
9010 Tk 3 B10**x%*3 REE
9010 Tk 3 B10Xtkkh 5 R E
9010 Tk 4 BO9**xkxh PUAT 15
9010 Tk 4 BO9*xxckk] ik F
9010 T 4 BO9x*kkk() L AURES
9010 il 4 BO9Xkkxkg S
9010 T8k 4 BO9**xkx§ =z *
9010 Tk 4 BO9Xkkkk] w1 %
9010 T8k 4 BO9**xkx2 EIREEH
9010 T 4 BO9*kkkx8 B LE
9010 T 4 BO8skskkkT BB
9010 Tk 4 BO9*kxk%2 HeopE &=
9020 Lk 1 B12%**%%3 B0 40
9020 Tk 1 B12%xtokk7 > E2
9020 Fa1k 1 B12%kkk8 3 ey
9020 Tk 1 B12%x4k%9 R84
9020 Tk 1 B12%44%3 R 3R
9020 Tk 1 B12%kkx%3 ¥ or A
9020 Tk 1 B12%kk%%9 M B 2o
9020 Tk 1 B12%¥kkx3 RIS
9020 Tk 2 B1 [tk R
9020 Tk 2 B11H¥kkx8 B ) R
9020 Tk 2 B1 Ixtkk() U
9020 a1 2 B1 Ikxk%k() R st
9020 Tk 2 B1 [tk U4
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9020 Fak 2 B1 k7 iF P e
9020 Fa1ox 2 BI Ikkkixg & %
9020 Fak 2 B 1kkk( i HAR
9020 Fak 3 B10¥kkkx3 T
9020 Fa1k 3 B1 0Kk HEF
9020 Tk 3 B1 0¥k ¥ i
9020 Fak 3 B10%kkkkT F ik
9020 Tk 3 B10%kkxk] LN
9020 Fa 3 B10XHkkkg t k%
9020 Tk 3 B10%kkxk] BE 2
9020 Fak 4 BO8*kkkx4 g E
9020 Fak 4 BO9*xkkk() RO 3
9020 Fak 4 B09kkkxk9 A+ fe
9020 Fak 4 BO9XkkkxT b Frie
9020 Fa1k 4 BO9#kskkkg BT
9020 Tk 4 BO9kkkxk8 AR
9020 Fa 4 BO9kkkkk6 R
AO011 EEAEE R 1 B12%%x%%§ = PR
A011 PEN e 1 B12%%t%x5 T F%
AO011 2ELEEE 1 B12%%x%%3 e IF
A011 ERNCRER &) 2 B1 1¥kkkx6 % 4p 6k
AO011 EEN I ER A 2 BI 1#%x%x5 1 IR PE
A011 PEN e 2 BI 1*¥tkk] %% B
AO1l | i 8w 2 B1 [kt AL %
A011 ES A BE R ] 3 B10XkkkkT i F
AO011 EENER A 3 B10**x%x5 M
A011 EREREE R 3 B10*¥tkk4 [0 S
A011 EEREREE 3 B10*kkkk2 ®IE
AOLL | i w | 4 BO9rkkk = & 3
AO011 2R LZEEE 4 BO9** X7 B o
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A011 FREEEE R 4 BO8xkkkk4 FARLE
A011 EELEE R 4 BO9*kkxk] % o
A012 FEED e 1 B12%xkkx6 %0
A012 FREATEE 1 B12%kk%x8 G
A012 BRAPEE 1 B12%xkk%2 RE il
A012 EEAD e 2 BI I¥kkkx3 FAn
A012 BRAPEE 2 B1 Ik FRRES
A012 FREATEE 2 BI 1¥kkkx3 BHE
A012 EEAP R 2 B L¥kkkx6 e
A012 FREED R 3 B10%kkxk3 iR
A012 EEAP R 3 B10%kkxk8 S PN
AD12 | 2ELFZR 3 B10Kkrkk] 3 H A
A012 RN E 3 BO9xkkkk4 FRAR 2E
A012 FREFEE 4 BO9kkkky * TH
A012 RN ES 4 BO9kkkkx3 HB AT
A012 RSB 3 4 BO9kkkkx8 i 5
A012 RN E 4 BO9¥kkkx5 i
A013 ER Nl E PR 1 B12%xkXX6 5k 4 R,
A013 E R e 1 B12%kkkx] R
A013 ER Nl EPE 1 B12%xk%%() iF ok
A013 RN PES 1 B12%kkkx3 Mk
A013 ER Nl EPE 2 BI I¥kkkx3 = ES
A013 EE AR 2 B1 Ikkkk%2 Hi B
A013 ER Nl E PR 2 B1 1¥kkkx8 P E R
A013 RN PES 2 B1 Ikekokkd S e
A013 EREAME R 3 B10**kkx6 2R
A013 RN PES 3 B10Xkkkx3 i E
A013 ER Nl E PR 3 BO9kxkkk7 ® FAT
A013 RNl EFEC 3 B10Xkkkx6 FURE
A013 ER Nl EPE 4 BO9kkkkx5 i34
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A013 | 2 kpdizle 4 BO9Hkktk] T
A013 | i kBl 4 BO9kkkk4 R
B010 R 1 B12%kkx5 By
BO10 R S 1 B12%kkkkg 3P w
B010 R 1 B12%kkkokg FE®
B010 R o 2 B1 kbokhokg ¥EE
B010 R 2 B1 [k#okkx8 A
B010 e S 2 B11¥kkkok2 bR
B010 R 3 B10kkkh VR
BO10 R S 3 B10kokk] e
B010 R 3 B1 0k R F
B010 R o 3 B1 0tk % % P
B010 R 4 BO9kkkxk() 3 Ak
B010 e S 4 BO kot PRI S
B010 R 4 BO9kkhkg LR
B020 4 1 B12kkxkT B 3E
B020 3 1 B12%okkx3 ¥ X
B020 4 1 B12:kkakg i Es
B020 3 2 B1 Ikkkk3 o
B020 4 Bk 2 B11*x*kkxx8 L
B020 3 2 B1 [kkkakg 7K e
B020 4 2 B1 Ikbokbok2 LA
B020 ERE 3 B10%kkxg LRCNE
B020 4 Bk 3 B10*kxkk3 ERE S
B020 3 3 B10kkokg 3% A
B020 4k 4 BO9kkkk L))
B020 3 4 BOgkkkk2 ¥
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